M ESH G UARDING

MANUFACTURED BY SPACEGUARD PRODUCTS

L

AV

A L I 77777

T I TTTITT

ADJUSTABLE
BRACKET

LBt L bbbl

T I T T T T T FITTTTTT 7Y

T3

2

RACK SAFET

INSTALLATION DETAILS

&,

FEE e e g7 P p7eigize;

FZZEZ2EZIIZZE2227T

Frres

L LT LT ELLLLLLLLL LT

T

FIXED
BRACKET

PHONE 1-800-841-0680
www.BeastWireMesh.com




Universal Rack Bracket Installation

HARDWARE
3/8" x 3 3/4" x 4" U-Bolt
3/8" Flat Washer

3/8" Hex Head Nut

5/16" x 3/4" Carriage Bolt !

5/16" x 3" Flanged Hex Hd. Bolt |
\
|

5/16" x 1" Self Tap Screw
5/16" Flanged Hex Head Nut -
5/16" x 1" Carriage Bolt

N

OINO R IWN =

*- Optional Bolt. If desired, (1) !
7/16"hole must be drilled. | >

</

0
9 § 2
% q Z
BIP m
9 iE
\

0 Vo \

J) Rack Safety
2 § ) Panel
» |G ?
) J - Universal

S T Rack Bracket

o1 | 9 \ g
0 § J Rack Upright I
AR I Y,
AR p i G
” J) OO0 000000000 o 8

@ 7 @‘

Adjustable from
2"to 12" O O

PLAN VIEW FRONT VIEW



Fixed Rack Bracket Installation

HARDWARE

5/16" x 3/4" Carriage Bolt

5/16" x 1" Carriage Bolt

ArlWIN -~

5/16" Flanged Hex Head Nut

5/16" Flat Washer

- . = . = R U W

T T T T T T TR T T TS

</

S & & & & & & & & o o o & &

Fixed Rack
Bracket

\ Rack Upright

N—

\ Rack Safety

Panel




Fixed Rack Bracket Installation (Flush)

HARDWARE
5/16" x 3/4" Carriage Bolt
5/16" x 1" Carriage Bolt ! %
5/16" Flanged Hex Head Nut ! :

5/16" Flat Washer ‘

ArlWIN -~

</

N—

\
\ Rack Safety

Panel

- N N = . U W

\ Rack Upright

&
BT T T T T T T T TS

S & & & & & & & & o o o & &




RACK PANEL EXTENSION KIT

IF PANEL EXTENDS BEYOND HEIGHT OF

UPRIGHT, RECOMMEND TO NOTCH PERFORATED
ANGLE AND BOLT OR SELF TAP PERFORATED
ANGLE TO SIDE OF PANEL AND TO UPRIGHT
(DEPENDING ON HEIGHT OF PANEL, FRONT OR

BACK UPRIGHT CAN BE USED). CONSULT

BUILDING CODE, UPRIGHT MANUFACTURER

RECOMMENDATIONS, OR A STRUCTURAL
ENGINEER FOR MORE INFORMATION.

EXISTING
UPRIGHT

QO © O © © O O © © O

UNIVERSAL RACK BRACKET

he}

©Q © © O © © 0O © 9 © O © © © O © o O

(<)

Q Q

CODD DD DD DDDDDD DD DL

QQQQQ/@QQQQQQQQQQQQ

\ EXISTING
UPRIGHT

(FRONT)



RACK PANEL EXTENSION KIT

IF PANEL EXTENDS BEYOND HEIGHT OF
UPRIGHT, RECOMMEND TO NOTCH PERFORATED
ANGLE AND BOLT OR SELF TAP PERFORATED
ANGLE TO SIDE OF PANEL AND TO UPRIGHT
(DEPENDING ON HEIGHT OF PANEL, FRONT OR
BACK UPRIGHT CAN BE USED). CONSULT
BUILDING CODE, UPRIGHT MANUFACTURER
RECOMMENDATIONS, OR A STRUCTURAL
ENGINEER FOR MORE INFORMATION.

S O

o oP O DD
© 0 9 9T O B T O O O O O O © O o O

DD DD DD DD DD DD DD D

QQQQQ/,QQQQQQQQQQQQQ

\ EXISTING
UPRIGHT

EXISTING (FRONT)
UPRIGHT
(BACK)

O DD DD DD DD DD

Q © O © & © © @ © © 9 Q© O O & © © © o ©

o oh DD D D DD DD DD

FIXED RACK
BRACKETS

=



